
 

  

  

 
TE620−7N

TE620−1N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.039 0.937 1.584 0.002

TE620−2N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.039 0.937 1.584 0.002

TE620−3N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.299 0.691 1.194 0.0

TE620−4N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.299 0.691 1.194 0.0

TE620−5N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.023 1.117 0.848 0.001

TE620−6N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.023 1.117 0.848 0.001

TE620−7N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE620−8N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE621−1N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.022 1.076 1.754 0.002
0.031 1.025 1.745 0.003

TE621−2N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.022 1.076 1.754 0.002
0.031 1.025 1.745 0.003

TE621−3N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.026 1.054 1.431 0.001
0.014 1.181 1.51 0.0

TE621−4N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.026 1.054 1.431 0.001
0.014 1.181 1.51 0.0

TE621−5N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TE621−6N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TE621−7N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE621−8N_1

log ∆L  luminance difference
threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 630cd/m2

input: w/rgb/cmyk −> w/rgb/cmyk−
output: no change

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

E
62/T

E
62.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20130201-T

E
62/T

E
62L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
rha4ta

 application for m
easurem

ent of display output



 

  

  

 
TE620−7N

TE620−1N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.025 1.143 0.223 0.003

TE620−2N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.025 1.143 0.223 0.003

TE620−3N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.129 0.98 0.194 0.0

TE620−4N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.129 0.98 0.194 0.0

TE620−5N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.045 1.155 0.142 0.002

TE620−6N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.045 1.155 0.142 0.002

TE620−7N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE620−8N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE621−1N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.005 1.485 0.35 0.008
0.025 1.188 0.286 0.006

TE621−2N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.005 1.485 0.35 0.008
0.025 1.188 0.286 0.006

TE621−3N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.01 1.361 0.26 0.004
0.081 0.975 0.185 0.001

TE621−4N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.01 1.361 0.26 0.004
0.081 0.975 0.185 0.001

TE621−5N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.011 1.328 0.22 0.009
0.088 1.015 0.145 0.003

TE621−6N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.011 1.328 0.22 0.009
0.088 1.015 0.145 0.003

TE621−7N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE621−8N_2

log ∆L  luminance difference
threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 63cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

E
62/T

E
62.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20130201-T

E
62/T

E
62L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
rha4ta

 application for m
easurem

ent of display output, no separation



 

  

  

 
TE620−7N

TE620−1N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.031 1.318 0.074 0.007

TE620−2N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.031 1.318 0.074 0.007

TE620−3N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.077 1.25 0.046 0.001

TE620−4N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.077 1.25 0.046 0.001

TE620−5N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.07 1.157 0.041 0.012

TE620−6N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.07 1.157 0.041 0.012

TE620−7N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE620−8N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE621−1N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.032 1.272 0.075 0.006
0.044 1.302 0.059 0.005

TE621−2N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.032 1.272 0.075 0.006
0.044 1.302 0.059 0.005

TE621−3N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.035 1.225 0.049 0.012
0.096 1.128 0.033 0.001

TE621−4N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.035 1.225 0.049 0.012
0.096 1.128 0.033 0.001

TE621−5N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.043 1.236 0.063 0.001
0.079 0.923 0.03 0.015

TE621−6N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.043 1.236 0.063 0.001
0.079 0.923 0.03 0.015

TE621−7N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE621−8N_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

 

 

  

  

  

 

 

 

1−000230−F0

V

C

L

M

O

Y

Y

O

M

L

C

V

V C

L M

O Y

Y O

M L

C V

-8
-6

-8
-6

-8
-6

-8
-6

TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 6,3cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

E
62/T

E
62.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik
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U

B
 registration: 20130201-T
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E
62L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
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 application for m
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TE620−7N

TE620−1N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.039 0.937 1.584 0.002

TE620−2N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.039 0.937 1.584 0.002

TE620−3N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.299 0.691 1.194 0.0

TE620−4N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.299 0.691 1.194 0.0

TE620−5N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.023 1.117 0.848 0.001

TE620−6N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.023 1.117 0.848 0.001

TE620−7N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE620−8N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE621−1N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.022 1.076 1.754 0.002
0.031 1.025 1.745 0.003

TE621−2N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.022 1.076 1.754 0.002
0.031 1.025 1.745 0.003

TE621−3N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.026 1.054 1.431 0.001
0.014 1.181 1.51 0.0

TE621−4N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.026 1.054 1.431 0.001
0.014 1.181 1.51 0.0

TE621−5N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TE621−6N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TE621−7N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE621−8N_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 630cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T

E
62/T

E
62.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20130201-T
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62/T
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 application for m
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ent of display output, no separation



 

  

  

 
TE620−7N

TE620−1N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.025 1.143 0.223 0.003

TE620−2N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.025 1.143 0.223 0.003

TE620−3N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.129 0.98 0.194 0.0

TE620−4N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.129 0.98 0.194 0.0

TE620−5N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.045 1.155 0.142 0.002

TE620−6N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.045 1.155 0.142 0.002

TE620−7N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE620−8N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE621−1N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.005 1.485 0.35 0.008
0.025 1.188 0.286 0.006

TE621−2N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.005 1.485 0.35 0.008
0.025 1.188 0.286 0.006

TE621−3N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.01 1.361 0.26 0.004
0.081 0.975 0.185 0.001

TE621−4N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.01 1.361 0.26 0.004
0.081 0.975 0.185 0.001

TE621−5N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.011 1.328 0.22 0.009
0.088 1.015 0.145 0.003

TE621−6N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.011 1.328 0.22 0.009
0.088 1.015 0.145 0.003

TE621−7N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE621−8N_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 63cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 5/9

see sim
ilar files: http://130.149.60.45/~
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TE620−7N

TE620−1N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.031 1.318 0.074 0.007

TE620−2N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.031 1.318 0.074 0.007

TE620−3N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.077 1.25 0.046 0.001

TE620−4N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL
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A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.077 1.25 0.046 0.001

TE620−5N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.07 1.157 0.041 0.012

TE620−6N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.07 1.157 0.041 0.012

TE620−7N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE620−8N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE621−1N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.032 1.272 0.075 0.006
0.044 1.302 0.059 0.005

TE621−2N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.032 1.272 0.075 0.006
0.044 1.302 0.059 0.005

TE621−3N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.035 1.225 0.049 0.012
0.096 1.128 0.033 0.001

TE621−4N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.035 1.225 0.049 0.012
0.096 1.128 0.033 0.001

TE621−5N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.043 1.236 0.063 0.001
0.079 0.923 0.03 0.015

TE621−6N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.043 1.236 0.063 0.001
0.079 0.923 0.03 0.015

TE621−7N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE621−8N_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 6,3cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/9

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/T
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 registration: 20130201-T
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TE620−7N

TE620−1N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.039 0.937 1.584 0.002

TE620−2N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.039 0.937 1.584 0.002

TE620−3N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2

−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.299 0.691 1.194 0.0

TE620−4N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.299 0.691 1.194 0.0

TE620−5N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.023 1.117 0.848 0.001

TE620−6N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.023 1.117 0.848 0.001

TE620−7N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE620−8N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE621−1N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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x y
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Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.022 1.076 1.754 0.002
0.031 1.025 1.745 0.003

TE621−2N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.022 1.076 1.754 0.002
0.031 1.025 1.745 0.003

TE621−3N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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B
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.026 1.054 1.431 0.001
0.014 1.181 1.51 0.0

TE621−4N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.026 1.054 1.431 0.001
0.014 1.181 1.51 0.0

TE621−5N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TE621−6N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.067 0.889 1.243 0.003
0.037 1.018 1.006 0.001

TE621−7N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0

TE621−8N_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 630cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 7/9
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TE620−7N

TE620−1N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.025 1.143 0.223 0.003

TE620−2N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.025 1.143 0.223 0.003

TE620−3N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.129 0.98 0.194 0.0

TE620−4N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.129 0.98 0.194 0.0

TE620−5N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.045 1.155 0.142 0.002
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.045 1.155 0.142 0.002
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L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001
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L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001

TE621−1N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.005 1.485 0.35 0.008
0.025 1.188 0.286 0.006
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L/∆L  luminance contrast
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.005 1.485 0.35 0.008
0.025 1.188 0.286 0.006

TE621−3N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.01 1.361 0.26 0.004
0.081 0.975 0.185 0.001
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L/∆L  luminance contrast
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.01 1.361 0.26 0.004
0.081 0.975 0.185 0.001

TE621−5N_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.011 1.328 0.22 0.009
0.088 1.015 0.145 0.003
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L/∆L  luminance contrast
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.011 1.328 0.22 0.009
0.088 1.015 0.145 0.003
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L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001
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L/∆L  luminance contrast
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0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 63cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 8/9

see sim
ilar files: http://130.149.60.45/~
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TE620−1N_9

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.031 1.318 0.074 0.007
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L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&Y
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.031 1.318 0.074 0.007

TE620−3N_9

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.077 1.25 0.046 0.001
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L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&B
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.077 1.25 0.046 0.001

TE620−5N_9

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.07 1.157 0.041 0.012
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L/∆L  luminance contrast
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0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&R
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.07 1.157 0.041 0.012
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002
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−3 −2 −1   0   1   2
  0

10

20

30

40

x=logL

x y
A
Y
B
R
G

0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002

TE621−1N_9

L/∆L  luminance contrast
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0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.032 1.272 0.075 0.006
0.044 1.302 0.059 0.005
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L=A3+A1 L A2

data & P−A3−pc−fit
KR 0,1s A&Y
average

A1    A2    A3      ∆
0.032 1.272 0.075 0.006
0.044 1.302 0.059 0.005

TE621−3N_9

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.035 1.225 0.049 0.012
0.096 1.128 0.033 0.001

TE621−4N_9
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0,25 0,44

L=A3+A1 L A2

data & P−A3−pc−fit
PO 0,1s A&B
average

A1    A2    A3      ∆
0.035 1.225 0.049 0.012
0.096 1.128 0.033 0.001

TE621−5N_9

L/∆L  luminance contrast
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0,58 0,32
0,25 0,44

L=A3+A1 L A2

data & P−A3−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.043 1.236 0.063 0.001
0.079 0.923 0.03 0.015
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L=A3+A1 L A2

data & P−A3−pc−fit
BM 0,1s A&R
average

A1    A2    A3      ∆
0.043 1.236 0.063 0.001
0.079 0.923 0.03 0.015
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L=A3+A1 L A2

data & P−A3−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002
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L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002
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TUB-test chart TE62; threshold data Avramopolos (89)
tp=0,1s, 4 observers, average, P−A3−pc−fit, 6,3cd/m2

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/TE62/TE62L0NA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 9/9
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